(c) The difference between the greatest and the smallest of

three numbers 5047, 3278 and 1318 is

5047

3278

1318

Difference ?

(d) The difference between the largest and the smallest of three

numbers 1276, 629 and 5687 is

10. What is the difference between 11 hundreds and 42 tens?

11. What is the difference between 247 tens and 1 thousand

64 ones?



8. Kumar has 216 cards. He has 9 times as many cards as Ashley.
How many more picture cards does Kumar have than Ashley?

) 216

komar) | | | | | [ | | |
Ashley

9. Bernard had 457 red marbles. His friend gave him 310 green
marbles. He put all the marbles equally into 6 bags.
(a) How many marbles were there in one bag?
(b) How many marbles could not be put intfo a bag?

55



(e) $607.00

(f) $3402

. Fillin the correct number of the type of coins used to make up the
amount of money given.

Amount of Number of coins
money nickel dime quarter | half-dollar
(a) | Onedollar 10 2
(b) Five dollars 100 20
(c) | $0.60
(d) | $1.50
(e) Ten dollars

. Complete the table with the value of the coins given.

Coins used Total value

(a) 8 dimes and 5 nickels

(b) 4 quarters, 2 dimes, 11 nickels and
5 pennies

(c) 22 pennies, 3 nickels, 10 dimes, and
5 quarters

(d) | 4 quarters and 20 nickels

(e) 10 quarters and 4 dimes

61



